

CHAIRS		LINEN	
White Wood Folding Chair with 1" Pad	\$4.80	Classic Linens	
Natural Wood Folding Chair with 1" Pad	\$4.80	Round Tablecloth 132" (full drape for 72")	\$16.00
Black Wood Folding Chair with 1" Pad	\$4.80	Round Tablecloth 120" (Full drape for 60")	\$15.00
White Resin Chair	\$4.02	Full Draping Cloth for 6' Table	\$16.00
White Plastic Chair with Pad	\$3.60	Full Draping Cloth for 8' Table	\$17.00
White Garden Chair	\$1.74	Square Cloths Overlay 80" x 80"	\$11.00
Neutral Folding Chair	\$1.44	Napkin, Cocktail 10" x 10"	\$0.66
Black Folding Chair	\$2.04	Napkin, Dinner 20" x 20"	\$0.84
Burgundy Folding Chair	\$1.62		
White Folding Chair	\$2.10	Damask Rose Linens	
Swivel Back Stool with Back	\$8.50	Round Tablecloth 132" (full drape for 72")	\$18.00
Swivel Bar Stool	\$5.50	Round Tablecloth 120" (full drape for 60")	\$17.00
Chevarie Chair	\$12.00	Round Tablecloth 108" (full drape for 48")	\$13.00
Chair Covers, White	\$3.00	Square Overlay 72" x 72"	\$11.00
		Full Draping Cloth for 6' Table	\$18.00
TABLES		Full Draping Cloth for 8' Table	\$19.00
Round Table, Seats 10-12, 72"	\$12.60	Napkins 22" x 22"	\$0.84
Round Table, Seats 8-10, 60"	\$11.40		
Round Table, Seats 6-8, 48"	\$10.20	Specialty Linen	
Round Table, Seats 4-6, 42"	\$9.00	Iridescent Crush Square 80" x 80"	\$16.20
Round Table, 30"	\$9.00	(Available in sunset orange, velvet red,	
Half Round Table, 60"	\$9.00	copper & midnight blue)	
Banquet Table, Seats 8-10, 8'	\$11.40	1:1	* 05.00
Banquet Table, Seats 6-8, 6'	\$10.20	Iridescent Crush 120" Cloth	\$25.00
Banquet Table, Seats 4-6, 4'	\$9.00	(Available in sunset orange & copper)	
Cocktail Table with 42" Extension	\$10.00		
Card Table, 36" x 36"	\$9.00		
Seminar Table, 6' x 18"	\$10.20		
Wine Barrel Table	\$55.00		
Wine Barrel Table with Umbrella Stand	\$55.00		
Wine Barrel Bar Table	\$250.00		



Santa Fe Party Rentals Catalog 1006 Cordova Pl. Santa Fe, NM 87505 | 505.986.1200 Santa Fe Party Rentals Catalog 1006 Cordova Pl. Santa Fe, NM 87505 | 505.986.1200 Santa Fe Party Rentals.com | email: santa fe party rentals@gmail.com

GLASSWARE		Classic White China Continued	
Champagne Flutes 6 oz	\$0.93	Cup & Saucer 8 oz	\$0.93
Goblet 12 oz	\$0.93	Demitasse 3.5 oz	\$0.93
Chardonnay 8.5 oz	\$0.93	Soup Plate, Wide Rim	\$0.93
Wine 8 oz	\$0.93	Soup Bowl Round	\$0.93
Martini 6oz	\$0.93	Creamer & Sugar	\$0.93
Bola Grande 17oz	\$0.93	Fruit Dish 5 inches	\$0.93
Margarita 9 oz	\$0.93	Charger Plate, Glass with Gold Beads	\$4.20
Brandy 5.5 oz	\$0.93		
Beverage/Iced Tea 14 oz	\$0.93	Fiesta China	
Pilsner Flare 4oz	\$0.9	Dinner Plate - Persimmon 11 inches	\$0.93
Pilsner 12 oz	\$0.93	Dinner Plate - Turquoise 11 inches	\$0.93
Beer Mug 16 oz	\$0.93	Dinner Plate - Cobalt Blue 11 inches	\$0.93
Irish coffee Mug 8.5 oz	\$0.93	Dinner Plate - Yellow 11 inches	\$0.93
Glass Coffee Mug 8 oz	\$0.93		
Cosmo 8.25	\$0.93	Salad Plate - Persimmon 8 inches	\$0.93
Shot Glass 1.5 oz	\$0.93	Salad Plate - Turquoise 8 inches	\$0.93
Highball 8 oz	\$0.93	Salad Plate - Cobalt Blue 8 inches	\$0.93
Old Fashioned 6 oz	\$0.93	Salad Plate - Yellow 8 inches	\$0.93
Double Old Fashioned 12oz	\$0.93		
Ice Cream Cup 8.5oz	\$0.93	Jumbo Bowl & Saucer - Persimmon	\$0.93
Juice glass 4 oz	\$0.93	Jumbo Bowl & Saucer - Turquoise	\$0.93
Zombie Glass 12 oz	\$0.93	Jumbo Bowl & Saucer - Cobalt Blue	\$0.93
		Jumbo Bowl & Saucer - Yellow	\$0.93
Crystal Glassware			
Champagne Flutes 8 oz	\$1.20	Fiesta Mug - Persimmon	\$0.93
Bordeaux Wine 19 oz	\$1.20	Fiesta Mug - Turquoise	\$0.93
Burgundy Wine 21 oz	\$1.20	Fiesta Mug - Cobalt Blue	\$0.93
		Fiesta Mug - Yellow	\$0.93
CHINA		Fiesta Mug - White	\$0.93
Classic White China			
Dinner Plate 11 inches	\$0.93	Salt & Pepper - Persimmon	\$1.02
Salad Plate 8 inches	\$0.93	Salt & Pepper - Turquoise	\$1.02
Bread & Butter/Dessert Plate 6.5 inches	\$0.93	Salt & Pepper - Cobalt Blue	\$1.02



Fiesta China Continued		FLATWARE	
Salt & Pepper - Yellow		Stainless Steel Flatware	
		Scroll Pattern	
Pitcher - Persimmon	\$6.36	Dinner Knives & Forks	\$0.78
Pitcher - Turquoise	\$6.36	Salad/Dessert Fork	\$0.78
		Butter Knife & Cocktail Fork	\$0.78
Square Slate China		Soup Spoon, Oval & Bouillon Spoon, Round	\$0.78
Dinner Plate - White 10.5 inches	\$1.08		
Dinner Plate - Ivory 10.5 inches	\$1.08	FLATWARE CONTINUED	
Salad Plate - White 7.25 inches	\$1.08	Riptide Pattern	
Salad Plate - Ivory 7.25 inches	\$1.08	Dinner Knives & Forks	\$0.93
Dessert Plate - White 6.5 inches	\$1.08	Salad/Dessert Forks	\$0.93
Dessert Plate - Ivory 6.5 inches	\$1.08	Soup Spoon	\$0.93
Cup & Saucer - White 9 oz	\$1.08		
Cup & Saucer - Ivory 9 oz	\$1.08	Silver Plate Flatware	
		Eton Pattern	
Glass Plate		Dinner Knives & Forks	\$1.02
Square Glass Plate 9 inches	\$1.14	Salad/Dessert Forks	\$1.02
Round Glass Plate 7 inches	\$1.14	Butter Knife & Cocktail Fork	\$1.02
Smoke Grey Square Glass Plate 10 inches	\$1.20	Soup Spoon, Oval & Bouillon Spoon Round	\$1.02
Clear Square Glass Plate 10 inches	\$1.20		
Ocean Blue Square Glass Plate 10 inches	\$1.20	Gold Plate Flatware	
Round Glass Plate 8 inches	\$0.93	Crown Royal Pattern	
Green Glass Plate 7 inches	\$1.08	Dinner Knives	\$1.02
		Dinner Forks	\$1.02
Chargers		Salad/Dessert Fork	\$1.02
Gold Beaded Glass Round Charger 13	00.50	Butter Knife	\$1.02
inches	\$3.50	Dinner/Teaspoons	\$1.02
Salmon Glass Round Charger 12 inches	\$2.50		
Silver / Gold Plastic Charger 13 inches	\$0.25		



SERVING WARE & TRAYS		Bar Trays	
Copper		Tray, Cork-lined 14 inches	\$6.00
Oval Platter 21 inches	\$20.10	Waiter Tray, Cork-lined	\$9.36
Round Platter 22 inches	\$20.10	Water Tray Stand	\$6.00
Round Platter with Handles 20 inches	\$20.10		
Copper Large Basin 19 inches	\$27.60	CATERING EQUIPMENT	
Copper Small Basin 16 inches	\$20.10	Stainless Steel	
Large Copper Bowl, Hammered	\$28.80	Coffee Maker, 30 cup	\$22.80
		Coffee Maker, 55 cup	\$27.60
Polished Aluminum		Coffee Maker, 100 cup	\$36.00
Large Clam Dish	\$27.60	Air Pump Pot, Stainless Steel, 3.4 Liters	\$12.00
Medium Clam Dish	\$7.56	Chafer, Including Fuel 8 qt	\$37.80
Small Clam Dish	\$6.36	Chafer, Including Fuel 4.5 qt	\$19.80
Leaf Tray Large	\$32.40	Chafer, Roll Top 8 qt	\$39.00
Leaf Tray Small	\$19.56	Chafer, Round, Roll Top 6 qt	\$27.00
Chili Pepper Tray	\$27.60	Oval Chafer	\$24.60
Aluminum Ice Bucket Large	\$27.60	Soup Pot 40 qt	\$15.60
Aluminum Ice Bucket Small	\$19.80	Beverage, Warmer	\$18.60
Hammered Square	\$27.60	Bowl 10 inches Stainless	\$7.50
		Bowl 12 inches Stainless	\$8.70
Silver Plate		Stainless Bowls available in 13, 30 & 45 qt sizes.	
Tray, Round 12 inches	\$11.16	Multiple serving utensils available as well.	
Tray, Round 16 inches	\$13.56	BUNGU BOWE O S BEVERAGE	
Tray, Round 20 inches	\$18.36	PUNCH BOWLS & BEVERAGE FOUNTAINS	
Oval Platter, 18 inches	\$15.96	Punch Bowl, Silver Plate 3 Gallon	\$32.40
Oval Platter, 20 inches	\$17.16	Punch Bowl, Silver Plate 5 Gallon	\$45.60
Oval Platter, 22 inches	\$18.36	Punch Bowl, Stainless 3 Gallon	\$29.70
Tray, 3-Tier	\$31.20	Punch Bowl, Stainless 5 Gallon	\$37.20
Tray, 3-Tier with Gold Trim	\$37.20	Punch Bowl, Glass 8 Gallon	\$25.20
Water Pitcher	\$9.60	Beverage Fountain with Gold Trim 3 Gallon	\$58.80
Oval Basket, 11 inches	\$3.60	Beverage Fountain with Gold Trim 5 Gallon	\$70.80
Champagne Bucket	\$13.20	Beverage Urn with Sterno for Hot Drinks 3	φ. σ.σσ
Salt & Pepper Set, Crystal w/silver plate cover		Gallon	\$31.20
Silver Sugar Tongs, Small	\$1.62	Beverage Urn for Cold Drinks 3 Gallon	\$31.20



CANDELADDA 9 VACES		COOLEDS KEGS & BARS	
CANDELABRA & VASES	# 40.00	COOLERS, KEGS & BARS	#07.00
Silver Plate, Candelabra, 3-Branch	\$13.20	Igloo Ice Chest, 120 qt	\$27.60
Silver Plate, Candelabra, 5-Branch	\$15.60	Igloo Water Cooler, 10 Gallon	\$15.60
Candelabra, Heart 17 lights	\$31.80	Igloo Water Cooler, 5 Gallon	\$11.40
Candelabra, Tree 13 lights	\$22.90	Igloo Water Cooler, 3 Gallon	\$9.00
Candelabra, Trinity 3 lights	\$19.90	Beverage Server, Insulated 36 oz	\$3.78
Iron Table Candelabra 3 lights	\$13.80	Beverage Server, Insulated 5 Gallon	\$15.25
Iron Table Candelabra 5 lights	\$20.40	Super Cool Keg	\$18.00
Iron Table Candelabra 7 lights with Stand	\$36.60	Water Pitcher, Glass	\$4.80
Iron Table Candelabra Set of Three	\$13.80	Tray, Cork-lined 14 inches	\$6.00
Candle Holder for Candelabra, White	\$0.72	Waiter Tray, Cork-lined	\$9.36
Candle Holder for Candelabra, Ivory	\$0.72	Water Tray Stand	\$6.00
Votive, Starburst with Candle	\$1.44	Portable Bar with Sink	\$114.00
Iron Unity Candle	\$22.90	Party Cooler (for lots of beverages)	\$20.40
Vase, Tall Cut-Glass 36 inches	\$14.10	Trash Can 44 Gallon	\$9.30
CONCESSION & FOOD PREPARATION		GUEST ACCOMMODATION	
Big John Grill, Gas with Bottle 2 x 3	\$102.00	Rollaway Bed, Single - Daily	\$44.40
Magicater Grill/Griddle	\$180.00	Rollaway Bed, Single - Weekly	\$80.40
Big John Griddle, Gas with Bottle 2 x 3	\$102.00	Rollaway Bed, Double - Daily	\$45.60
Hot Box, Electric	\$168.00	Rollaway Bed, Double - Weekly	\$81.60
Stock Pot Set, with Steam Insert 40 qt	\$19.20		
Stock Pot Set, with Steam Insert 60 qt	\$22.80	STAGES	
Food Warmer, 3-well, Electric - Includes Pan	\$105.60	Stage, 4 ft x 8 ft	\$60.00
Steam Table, 3-well, Propane - Includes Pan	\$105.60	Stage, 8 ft x 8 ft	\$170.00
Roaster, Hamilton Beach 18 qt	\$38.40	Stage, 8 ft x 12 ft	\$230.00
Popcorn Popper & Cart	\$75.60	Stage, 12 ft x 16 ft	\$430.00
Snow Cone Machine & Cart	\$75.60	Stage, 16 ft x 20 ft	\$670.00
Hot Dog Machine	\$42.00	Steps, 24 inches	\$13.20
		Stages are priced per section and include setup price. Prices do not include delivery and pick up cost.	
		D1111/2 = 2 2 11/2	

DUNK TANK

\$360.00

Dunk Tank



COLONNADES & ARCHES		DANCE FLOORS	
Archways, Silver Vein	\$66.00	Parquet Dance Floor	
Arbor Arch, White	\$75.00	Dance Floor, 3 ft x 4 ft	\$21.60
Archway, Brass, Heart Top	\$56.40	Dance Floor, 9 ft x 12 ft	\$231.00
Archway, Brass, Flat Top	\$56.40	Dance Floor, 12 ft x 12 ft	\$320.00
Kneeling Bench, White	\$37.20	Dance Floor, 12 ft x 16 ft	\$399.00
Kneeling Bench, Brass	\$37.20	Dance Floor, 18 ft x 20 ft	\$732.00
Guest Book Stand, White	\$27.60	Dance Floor, 24 ft x 24 ft	\$1,156.00
Guest Book Stand, Brass	\$27.60		
Folding Screen, White Lattice	\$19.80	Black & White Dance Floor	
Wishing Well, White Lattice	\$14.76	Dance Floor, 3 ft x 4 ft	\$20.40
		Dance Floor, 9 ft x 12 ft	\$220.00
Black Iron Collection		Dance Floor, 12 ft x 12 ft	\$310.00
Black Iron Arched Arbor	\$64.80	Dance Floor, 12 ft x 16 ft	\$386.00
Weeping Willow Tree	\$72.00		
		Teak Dance Floor	
Corinthian Colonnade Collection		Dance Floor, 3 ft x 3 ft	\$21.60
Colonnade, White Large	\$201.60	Dance Floor, 9 ft x 12 ft	\$231.00
Colonnade, White Small	\$138.00	Dance Floor, 12 ft x 12 ft	\$320.00
Balustrade, Curved	\$13.80	Dance Floor, 12 ft x 16 ft	\$399.00
Balustrade, Straight	\$13.80	Dance Floor, 18 ft x 20 ft	\$732.00
Columns 96 inches	\$19.20	Dance Floor, 24 ft x 24 ft	\$1,156.00
Planters, White	\$4.50		
Garden bench, White	\$31.20	Mirror Ball	\$45.00
Other Sizes of Columns Available		Dance floors are priced per section and include setup price. Prices do not include delivery and pick up cost. Other dance floor	
AISLE RUNNERS		sizes available	
Aisle Runner, Red / Ivory 25 ft	\$55.00		
Aisle Runner, Red / Ivory 50 ft	\$65.00		



Santa Fe Party Rentals Catalog 1006 Cordova Pl. Santa Fe, NM 87505 | 505.986.1200 Santa Fe Party Rentals Catalog 1006 Cordova Pl. Santa Fe, NM 87505 | 505.986.1200 Santa Fe Party Rentals.com | email: santa fe party rentals@gmail.com

TENTS		Tent & Patio Heaters & Coolers	
Classic Tents		Tent Heater	\$132.00
10 x 10 (100 square ft)	\$180.00	Patio Heater	\$95.00
10 x 20 (200 square ft)	\$258.00	WayCool Evaporative Cooler	\$100.00
10 x 30 (300 square ft)	\$330.00	Small Evaporative Cooler	\$60.00
15 x 15 (225 square ft)	\$264.00		
15 x 30 (450 square ft)	\$390.00	UMBRELLAS & CANOPIES	
15 x 45 (675 square ft)	\$540.00	Umbrella, 9 ft White	\$50.00
20 x 20 (400 square ft)	\$300.00	Umbrella, 9 ft Green	\$50.00
20 x 30 (600 square ft)	\$475.00	Canopy, White, KD Easy Up 10 ft x 10 ft	\$102.00
20 x 40 (800 square ft)	\$570.00	Canopy, Blue, KD Easy Up 10 ft x 10 ft	\$102.00
30 x 30 (900 square ft)	\$690.00	Canopy, White, 20 ft x 20 ft	\$144.00
30 x 45 (1,350 square ft)	\$930.00	Round tables are available for umbrellas in	
30 x 60 (1,800 square ft)	\$1,320.00	48", 60" & 72"	
30 x 90 (2,700 square ft)	\$1,680.00		
60 x 60 (3,600 square ft)	\$2,220.00	DECOR & LOUNGE	
Solid Sidewall 8 ft x 20 ft	\$39.60	Furniture	
Solid Sidewall 8 ft x 30 ft	\$54.00	Grey Leather Accent Chair	\$100.00
Cathedral Window Sidewall 8 ft x 20 ft	\$53.40	Teal Accent Chair	\$80.00
Cathedral Window Sidewall 8 ft x 30 ft	\$75.60	Green Accent Chair	\$80.00
Pole Drape, White	\$11.00	Blue Leather Sofa	\$150.00
		Grey Sofa	\$150.00
Warner Tents		Ivory bench	\$100.00
Warner Tent Hexagon 36 ft (1300 sq ft)	\$750.00	Brown bench	\$100.00
Warner Tent 20 x 20 (400 square ft)	\$300.00	Marble Coffee Table	\$125.00
Warner Tent 15 x 15 (225 square ft)	\$264.00		
Warner Tent 10 x 10 (100 square ft)	\$180.00	MEETING & PRESENTATIONS	
Pole Drape, 10 ft	\$20.40	Easel, Aluminum	\$16.80
Solid Sidewall, 10 ft	\$42.00	Garment Rack	\$21.30
Solid Sidewall, 15 ft	\$36.00	Lectern, Floor Model	\$74.40
Solid Sidewall, 20 ft	\$39.60	Lectern, Table Top	\$60.00
Window Sidewall, 15 ft	\$45.60	Wireless Microphone With Speaker	\$75.00
Window Sidewall, 20 ft	\$51.60	Projector Screen, 64 x 84 inches	\$42.00
		Raffle Drum	\$30.00